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KANGOUROU MATHEMATICS COMPETITION 2016 (LEVEL 3-4)

3 point problems - mpoBAnuata 3 povadwv

1. Amy, Bert, Carl, Doris and Ernst each rolled two dice and added the number of dots.

Who rolled the largest total?

OLAmy, Bert, Carl, Doris kat o Ernst o kaBévag €piée SUo {apla kal mpodcBeae Tov aplBUO TWV KOUKKISWV.
Molog €plLée To peyalutepo olvolo/aBpolopa;

$3|| * S P S b e s 1R
Amy Bert Carl Doris Ernst
(A) Amy (B) Bert (C) carl (D) Doris (E) Ernst

2. The small Katerina is 7 weeks and 2 days old. In how many days will Katerina be 8 weeks old?
H nikpn Katepiva £xet nAikia 7 eBSopdadwy kat 2 npepwv. e mooeg PEpeg n Katepiva Ba €xel nAwkio 8
eBSouadwy;

(A)1 (B) 2 (€3 (D)4 (E)5

3. Find the value of ?
Bpeite tn T Tou ?

17+3 20-16

| |
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(A) 24 (B) 28 (C) 36 (D) 56 (E) 80
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4. What does Pipo see when he looks at himself in the mirror?
TL BA€neL o Mo o0 MAALATO0G OTAV KOLTAEL TOV €QUTO TOU OTOV KOBpEDTN;

5. George goes with his father to a circus. Their seats are numbered 71 and 72. Which way should they
go?

O Mwpyocg mnyaivel e Tov matépa Tou os £va tolpko. OL B€oelg Toug €xouv Toug aplBpolg 71 kat 72.
Mota katevBuvon Ba MPEMEL va TIAVE;

Seats 1to 20
Ofoelg 1 péxpL 20

Seats 21 to 40
O¢0elg 21 uéxpL40

Seats 41 to 60
O¢oelg 41 péxpL 60

Seats 61 to 80
O¢oelg 61 péxpL 80

Seats 81 to 100
O¢oelg 81 ugxpL 100

2yt
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6. Anna shares some apples between herself and 5 friends. Everyone gets half of an apple.

How many apples does she share?

H Avva potlpaletal peplkd pnAa pe 5 ¢pileg tng. H kaBeuid maipvel 1o pood evog uniou. MNooca pnia
poipaoe n Avwa;

(A) 2 (8)3 ()4 (D)5 (E)6
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7. A rectangle is partly hidden behind a curtain. What shape is the hidden part?
‘Eva opBoywvio gival HEPIKWG KPUULEVO TIOW OO Lol KOupTiva. TL oXAUo £XEL TO KPUUUEVO LEPOC;

o=

(A) Atriangle (B)Asquare  (C) A hexagon (D) Acircle (E) A rectangle
(A) Tplywvo (B) Tetpaywvo (C) E€aywvo (D) KukAog (E) OpBoywvio

8. Which one of the following sentences correctly describes the picture?
Mola armo TI§ TAPAKATW MPOTACELG TEPLYPADEL CWOTA TNV ELKOVQ;

e
oL

(A) There are as many circles as squares. (B) There are fewer circles than triangles.
(C) There are twice as many circles as triangles. (D) There are more squares than triangles.
(E) There are two triangles more than circles.

(A) Yridpyouv tocoL KUKAOL 60Q TETPAYWVAL. (B) Yrapxouv Alyotepol KUKAOL amo Tpiywva.
(C) Yrapxouv Suthdactot kUKAoL amo tpiywva. (D) Ydpyouv MeplocoTepa TETPAYWVA ATO Tplywva.
(E) Yadpyouv 800 Tpiywva eplocotepo and KUKAoUC.

‘ 4 point problems - mpofAnuata 4 povadwv

9. The sum of the digits of the year 2016 is equal to 9. What is the next year, after 2016, where the sum
of the digits of the year is equal to 9 again?

To aBpolopa twv Pndiwv tou £touc 2016 ivat (oo pe 9. Moo elval To eMdpevo £T10¢, Hetd To 2016, TTOU
1o dBpolopa tTwv Pndiwv Tou £€Touc ival Loo pe 9 Kal TTAAL

(A) 2007 (B) 2025 (C) 2034 (D) 2108 (E) 2134
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10. The mouse wants to escape from the maze. How many different paths can the mouse take without
passing through the same gate more than once?

To movtikt B€AeL va EedpUyel amod to AaPUpvBo. Mooeg SladopeTIKEC SLASPOUEG UTTOPEL va TIAPEL TO
TIOVTIKL XwpLg va mepdoel amd TNV dLa UAN MepLoaoTEPO amod pia popa;

(A) 2 (B) 4 (C)5 (D)6 (E)7

11. Zoe has two cards. She wrote a number on both sides of each card. The sum of the two numbers on
the first card is equal to the sum of the numbers on the second card. The sum of the four numbers is
32. What could be the two numbers on the sides that we cannot see?

H Zwn €xeL Vo kaptec. Eypalde éva aplBuo kat otig SUo MAsUpES TS KABe kKaptag. To abpolopa twv Suo
opLlBUWVY oTNV MPWTN Kapta ivol ico pe to dbpolopa Twy aplBpwyv otn deltepn Kapta. To dBpolopa Twv
TECOAPWV aplBuwy gival 32. Notot Ba pmopolos va gival ot 500 aplBuol oTLg TTAEUPEC TTOU SV UTTOPOULE
va dole;

(A)7and O (B)8and 1 (C)11and 4 (D)9 and 2 (E)6and 3
(A) 7 kar 0 (B) 8 ka1 (C) 11 ko 4 (D) 9 ka 2 (E) 6 ko 3

12. Which tile fits in the middle such that only lines with the same colour touch each other?
Moto TAaKAKL Talpldlel otn HEoN, £TOL WOTE LOVO YPAUUEC LE TO 1610 ¥pwuo ayyilouv n pia tnv aA\n;

W 0D o WX B
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13. Five children had a paper square, a paper triangle and a paper circle. Every child placed their own
papers in a pile, as shown in the pictures. How many children placed the triangle above the square?
Mévte moudLd eiyov Eva TETPAYWVLKO XapTi, Eva TPLywviko xapti kat éva KUKALKO xapti. To kaBe maidi
TomoOeTel Ta SLKA TOU XAPTLA O€ Eva owPo, OTwG daivetal otig dwrtoypadiec. Mdoa maldla TomobETnoav
TO TPLYWVLKO XOpTi MAvw armod To TETPAYWVLKO Xapti;

ADONRYOWA

(A)O (B)1 (C) 2 (D)3 (E) 4

14. Which three of the five jigsaw pieces shown can be joined together to form a square?
Mola tpla amo to MEVIE KOYUATLA Tou TtalA tou dailvovtal Hmopouv va evwBoUv Kal va oxnuaticouv éva
TETPAYWVO;

AN Z

(A) V,X,Y (B) V,U,Y () V,ZY (D) X,Z,Y (E) UX,Y

15. Lois has started to write some numbers in the table. He decides that each row and column will
contain the numbers 1, 2 and 3 exactly once. What is the sum of the numbers that he will write in the
two shaded squares labeled A and B?

O AouUng éxeL apyioel va ypadel peptkou aptBpolg otov mivaka. Exel amodpaciosl 6TL KGO ypapun Kot
otAAN Ba mepLéxel Toug aptBpolg 1, 2 kat 3 akplBwce pa ¢popd. Moo sivat To dBpolopa Twv aplBuwv mou
Ba ypael ota SU0 TETPAYWVO TTOU CNUELWVOVTAL UE A KoL B;

1

(A) 2 (B)3 (C)4 (D)5 (E) 6
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16. John has a board with 11 squares. He puts a coin in each of eight neighbouring squares without
leaving any empty squares between the coins. What is the maximum number of squares in which one
can be sure that there is a coin?

O Mavvng €xel éva mivaka pe 11 tetpaywva. Balel £éva vopulopa o KaBe €va amd Ta OKTW YELTOVIKA
TETPAYWVA, XWPIC va adrvel KEVO TETPAYWVO UETALY TWV VOULOMATWY. MNoLlog ival o péylotog aplbuoc
TWV TETPAYWVWY OTA omola Umopel Kavelg va eival olyoupog OTL UTTAPXEL EVa VOULOUQ,

(A)1 (B)3 (C) 4 (D)5 (E) 6

5 point problems - mpoBAnuata 5 povadwv

17. Having turned a card over around its right side, we see what is drawn in the figure. What shall we
see if we turn this card over around its upper side?
AdoU yupilooupe pLa kapto yupw oo tn 6e€Ld tng mAeupd, PAEMOUUE TO amoTéAsopa oTo oxnua. Tt Ba

%

4 Y
N

(A) (B) (€) (D) (E)

18. Tim, Tom and Jim are triplets (three brothers born on the same day). Their brother Paul is exactly 3
years older. Which of the following numbers can be the sum of the ages of the four brothers?

O Tipog, o Takng Kot o AnuAteng elvat tpidupa (tpila adéAdia mou yevwnOnkav tnv idta nuépa). O
06eAd06¢ Touc o NMaAog elvatl akplBwe 3 xpovia peyahUTepog. Molog armd Toug Mapakatw aplOpoug
Umopel va eival to dBpolopa Twv NALKLWY TwV TEGoapwV adeddwy;

(A) 25 (B) 27 (C) 29 (D) 30 (E) 60
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19. Magic trees grow in a magic garden. Each tree contains either 6 pears and 3 apples or 8 pears and 4
apples. There are 25 apples in the garden. How many pears are there in the garden?

Mayika §évtpa peyoAwvouv og éva HayLko knmo. Kabe §évtpo £xel gite 6 axAadia kat 3 unAan 8
axAadia kat 4 pnAa. Yrapyouv 25 unia otov knmo. Noca eival ta axAadla otov KAMo;

(A) 35 (B) 40 (C) 45 (D) 50 (E) 56

20. My dogs have 18 more legs than noses. How many dogs do | have?
Ta oKUALA pou €xouv 18 modLa teplocoTepa amd HUTEC. MNooa OKUALG £XW;

(A) 4 (B)5 (C)6 (D)8 (E)9

21. Karin wants to place five bowls on a table in order of their weight. She has already placed Q, R, S
and T in order. Bowl T weighs the most. Where must she place bowl 2?

H Katepiva BéAel va BAAeL tévte KOUTIEC O€ €val TPATETL KATA TN OEPA Tou Bapoug Toug. Exouv ndn
tomoBetnBel oL Q, R, S ka T og gelpa. H koUTa T (uyilel To TteEpLOOOTEPO. I Tola O€01 OTN OELPA TIPETEL
va TomoBeToEL TNV KoUTA Z;

ALY \OOLY \LALY IOV
Q R S T
\ACLY

YA
(A) to the left of Q (B) between Qand R  (C) betweenRand S
(D) betweenSand T  (E) to the right of T

(A) ota aplotepa tng Q (B) petaf Q kat R (C) petagu R kat S

(D) peta€V tngSka T (E) ota Se€latng T

22. Rachel adds seven numbers and gets 2016. One of the numbers in the addition is 201. She replaces
the number 201 with 102. What answer does she get?

H Padatla mpocBEtel emtd aplOpoug kat maipvel 2016. Evag arnod toug aplBpolg otnv npdcbeon sival
201. AvtikaBlotd tov aptduo 201 pe 102. Tu anavtnon Oa mapet;

(A) 1815 (B) 1914 (C) 1917 (D) 2115 (E) 2118
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23. Maria has built a bar of 27 bricks. She breaks the bar into two bars such that one of them is twice
the length of the other. Then she takes one of the new bars and breaks it the same way. She continues
in this way. Which of the following bars will she not be able to get?

H Mapia €xel Snuloupynoel pLa paBdo pe 27 touPAa. Inast tn papdo oe Vo paBdoug, £T0L WOTE HLO
T QUTEG VAL EXEL SUTAGOLO LURKOG Ao TNV GAAN. 2T CUVEXELA TIAPVEL pLoL aTtd TIG VEEG pABSOUG Ko TN
OTtAEL UE ToV (610 TPpOTO. Tuve)ilel pe auTov Tov TPOTO. Mola amo TI¢ mapakdTtw paBdoug dev Ba sival oe
Béon va mapey;

24. Five sparrows sit on a branch, as shown in the figure. Each sparrow chirps the same number of
times as the number of sparrows it sees. For example, Angel chirps four times. Then, one sparrow turns
to look in the opposite direction. Again, each of the sparrows chirps the same number of times as the
number of sparrows it sees. This time, the total number of chirps is more than the first time. Which of
the sparrows has turned to look in the opposite direction?

Mévte omoupyitia kaBovtal og €va kKAwvi 6évtpou, Onwe paivetal otnv elkova. Kabe omoupyitt kehanda
TOOEC GOPEC OOEC KAl 0 apLBUOC TWV OTIOUPYLTLWVY TTou BAEneL. MNa mapdadelyua, o Angel keAanda
T€ooepLg GOPEC. ITN CUVEXELD, £va OTIOUPYLTL Yupilel va KoLTaEeL tpog TV avtiBetn kateuBuvaon. Kat
TAAL, KABe éva amo ta omoupyitia KeAanda T0oeg popEg OOEG KAl Ta omoupyitia mou BAEMEL. AUTh TN
dopd, 0 UVOALKOG apLBOG TwV KEAANSNUATWY ElvaL IEPLOCOTEPOC Ao TNV TPWTN dopd. Molo amnd ta
omnoupylitia yuploe kat koitae mpog tnv avtibetn katevBbuvon;

Angel Bertha  Charlie David Eglio

(A) Angel (B) Bertha (C) Charlie (D) David (E) Eglio
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